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A soft drink company prepares drinks of three different flavours - X, ¥ and Z. The production of three flavours over a
period of six years has been expressed in the bar graph provided below.

Producticn of Three Different Flavours X, Y and Z by a Company over the years (in lakh bottles)
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The total production of flovour Z in 1997 and 1998 is what percentage of the total production of
flavour X in 1995 and 1996? 1997 3R 1998 # WelaX Z &I el 3cUleeT 1995 IR 1996 H Folar X

% ol ScUleel T Tohclall Ficerd g2

A. 96.67%

B. 102.25%
C. 115.57%
D. 133.33%

Answer:
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For which flavour was the average annual production maximum in the given period? & 315 3/afer &
P Folax &1 3iaa aiffie 3carest 3if¥eas ar?
A. Xonly

B. Yonly
C. Zonly

D. XandyY

Answer:

What is the difference between the average production of flavour X in 1995, 1996 and 1997 and the
average production of flavour Y in 1998, 1999 and 20007 1995, 1996 3iR 1997 & walax X & 3itad

3cqresT 3 1998, 1999 3R 2000 H ola¥ Y & 3i9d 3culed & arg fohdell 3d g7
A. 50,000 bottles

B. 80,000 bottles
C. 2,40,000 bottles

D. 5,00,000 bottles

ANS-

What was the approximate decline in the production of flavour Z in 2000 as compared to the
production in 1998? 1998 # 3cUlesT T defell H 2000 # FlaR Z & 3cUleeT H SIear fohclslr

Rmae 35 oA
A. 50%

B. 42%


javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;
javascript:%20void%200;

C. 33%

D. 25%

Answer:

For which of the following years the percentage of rise/fall in production from the previous year is the

maximum for the flavour Y? #faf@d # & frd a¥ & fav oo a¥ & 3cued # gefa/faRmEe
T G Y FolaX & T iferencs g2

A. 1996
B. 1997
C. 1998
D. 1999

Answer:
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